DISCRIMINANT: b2 - 4ac

The discriminant determines the number and
type of solutions of any quadratic ‘3=)?
(remember to set the equation = O first)¢

What is a solution/root/zero? Y=y
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‘ 5.3A  Number and Type of Solutions: Part I

1. What s the discriminant? What does it do?

p*-4ac

od

#2 - 9: Find the discriminant, the number of solutions and the type of solutions for each equation.

2. |_:1+.6u+'£=0 3 3al42r=1
s | _ -\l

C=10 01—3 b=2 o=-|

number of solutions: ‘ , number of solutions: 9
type of solutions: QMM type of solutions: w

4 omitcsens s o= I
O.= 1 a< -1

h=-4 .b':.' "

ha c: 2

discriminant:

2N
number of solutions: u number of mlm
type of solutions: l I type of solutions: a
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‘ 5.3A  Number and Type of Solutions: Part I

#2 -9 (continued): Find the discriminant, the number of

equation.

discriminant:

number of solutions:

type of solutions: I&ﬂm

8 Sx-llx+6=0

number of solutions:

type of solutions:

for each

and the type of sol

Br+1=-16x2 l‘f*%ﬁ-‘:(} 7a2 +16x+11=0

number of solutions:

type of solutions:

9. 0=4x +5x+2

number of solutions:

type of solutions:

10. On a quiz, Brittani used the discriminant to find the number and type of solutions. Find her mistake and find

the correct solution.

0=x2-6x+5

b2 —dac
-6 -4(1)(5)
=36-20

discriminant: —56
solutions: 2 imaginary solutions

Name Period

| 5.3B  Number and Type of Solutions: Part Il ‘

a) What is the discriminant?

b) Number of solutions?

¢) Type of solutions?

d) What are the zeros (roots)?

*Factor or use the graph

e) Graph the equation.

2y

- y= PO R+

a) What is the discriminant?

b) Number of solutions?
¢) Type of solutions?

d) What are the zeros (roots)?

*Factor or use the graph

€) Graph the equation.

i

x

¥

L

Py

f) What is the vertex?

g) s the vertex a minimum or maximum?

h) What is the y -intercept?

i) What is the domain?

j) What is the range?

f) What is the vertex?

g) Is the vertex a minimum or maximum?

h) What is the y -intercept?

i) What is the domain?

Jj) What is the range?
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